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Subject Question

Question 1 Question Id : 1
Complete the sentence using appropriate option By the next month, we shall …………… the project.
Answer : Option Id
(A) has completed 1001

(B) completing 1002

(C) completed 1003

(D) have completed 1004

Right Answer :
have completed

Right Option Id : 1004

Question 2 Question Id : 55
Complete the sentence using appropriate option The Council ………… made its decision.
Answer : Option Id
(A) have 55001

(B) have had 55002

(C) has 55003

(D) having 55004

Right Answer :
has

Right Option Id : 55003

Question 3 Question Id : 54
Complete the sentence using appropriate option Sita or her brothers ……….. to be blamed.
Answer : Option Id
(A) is 54001

(B) has 54002

(C) are 54003

(D) was 54004

Right Answer :
are

Right Option Id : 54003

Question 4 Question Id : 53
Complete the sentence using appropriate option The thief and the eye-witness________.
Answer : Option Id
(A) has escaped 53001

(B) has been escaping 53002

(C) was escaping 53003

(D) have escaped 53004
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Right Answer :
have escaped

Right Option Id : 53004

Question 5 Question Id : 52
Complete the sentence using appropriate option "Shyam and his brothers"_____ a famous sweet shop in our neighbourhood.
Answer : Option Id
(A) are 52001

(B) have been 52002

(C) is 52003

(D) have 52004

Right Answer :
is

Right Option Id : 52003

Question 6 Question Id : 51
Fill in the blank with the future perfect continuous tense form of the verb given in the bracket. "We_ for an hour now." (wait)
Answer : Option Id
(A) shall have been waiting 51001

(B) have been waiting 51002

(C) shall be waiting 51003

(D) had been waiting 51004

Right Answer :
shall have been waiting

Right Option Id : 51001

Question 7 Question Id : 50
Which tense is used to express an action taking place in the future?
Answer : Option Id
(A) Future perfect tense 50001

(B) Future perfect continuous tense 50002

(C) Future indefinite tense 50003

(D) Future continuous tense 50004

Right Answer :
Future continuous tense

Right Option Id : 50004

Question 8 Question Id : 49
Identify the tense used in the sentence. "When shall our application be approved?"
Answer : Option Id
(A) Future perfect tense 49001

(B) Present indefinite tense 49002

(C) Past perfect tense 49003

(D) Future indefinite tense 49004

Right Answer :
Future indefinite tense

Right Option Id : 49004

Question 9 Question Id : 48



Identify the tense used in the given sentence. " My father's shop has been sold out."
Answer : Option Id
(A) Past perfect tense 48001

(B) Present perfect tense 48002

(C) Past indefinite tense 48003

(D) Present indefinite tense 48004

Right Answer :
Present perfect tense

Right Option Id : 48002

Question 10 Question Id : 47
Choose the correct sentence.
Answer : Option Id
(A) Harry inviting me to his farmhouse once. 47001

(B) Harry shall invited me to his farmhouse once. 47002

(C) harry had invited me to his farmhouse once. 47003

(D) harry has been invited me to his farmhouse once. 47004

Right Answer :
harry had invited me to his farmhouse once.

Right Option Id : 47003

Question 11 Question Id : 46
Choose the present perfect tense form of the given sentence. The manager shall be on leave."
Answer : Option Id
(A) The manager is on a leave. 46001

(B) The manager had been on leave. 46002

(C) The manager was on leave. 46003

(D) The manager has been on leave. 46004

Right Answer :
The manager has been on leave.

Right Option Id : 46004

Question 12 Question Id : 45
Select the most appropriate option to change the sentence from direct speech to indirect speech Ramesh said, "I like this film" Ramesh said that he
…………..
Answer : Option Id
(A) he likes/this film 45001

(B) he has liked/the film 45002

(C) has been liking/that film 45003

(D) he liked/that film 45004

Right Answer :
he liked/that film

Right Option Id : 45004

Question 13 Question Id : 44
Select the most appropriate option to change the sentence from direct speech to indirect speech "You should sit on the white chair", he said. He said that
…………. sit ………… white chair.
Answer : Option Id



(A) we must/on the 44001

(B) you should/at the 44002

(C) I should/on the 44003

(D) I must/at the 44004

Right Answer :
I should/on the

Right Option Id : 44003

Question 14 Question Id : 43
Select the most appropriate option to change the sentence from direct speech to indirect speech"We are going for a holiday next week", we declared. we
said that ………………. going for a holiday the …………..
Answer : Option Id
(A) they are/next week 43001

(B) we are/previous week 43002

(C) we were/following week 43003

(D) you are/next week 43004

Right Answer :
we were/following week

Right Option Id : 43003

Question 15 Question Id : 42
Select the most appropriate option to change the sentence from direct speech to indirect speech" I was waiting for the bus when he arrived", she said. She
told that …………….. waiting for the bus when …………………..
Answer : Option Id
(A) was/she arrived 42001

(B) she was/he arrived 42002

(C) you are/I arrived 42003

(D) he was/ she arrived 42004

Right Answer :
she was/he arrived

Right Option Id : 42002

Question 16 Question Id : 41
Select the most appropriate option to change the sentence from direct speech to indirect speech Nandi said, "I was playing cricket in the morning". Nandi
_____ that he ______ playing cricket in the morning
Answer : Option Id
(A) Said to me/have been 41001

(B) Told me/had been 41002

(C) Asked me/has been 41003

(D) Told us/have been 41004

Right Answer :
Told me/had been

Right Option Id : 41002

Question 17 Question Id : 56
Select the most appropriate option to change the sentence from direct speech to indirect speech Grandpa said to me," May God bless you". Grandpa
________ that God ________ me.
Answer : Option Id
(A) Said/should bless 56001



(B) Told/may bless 56002

(C) Asked/will bless 56003

(D) Prayed/might bless 56004

Right Answer :
Prayed/might bless

Right Option Id : 56004

Question 18 Question Id : 57
Select the most appropriate option to change the sentence from direct speech to indirect speech "When can we have lunch?" She asked. She asked when
_______ have lunch.
Answer : Option Id
(A) We can 57001

(B) She can 57002

(C) They could 57003

(D) He should 57004

Right Answer :
They could

Right Option Id : 57003

Question 19 Question Id : 58
Select the most appropriate option to change the sentence from direct speech to indirect speech Nishi said, "The exam is very difficult". Nishi told that
___________ very difficult.
Answer : Option Id
(A) The exam was 58001

(B) This exam is 58002

(C) My exam was 58003

(D) Your exams are 58004

Right Answer :
The exam was

Right Option Id : 58001

Question 20 Question Id : 67
Select the most appropriate option to change the sentence from direct speech to indirect speech Nancy said, "We went for a summer trip last year".
Nancy said that ……..…. for a summer trip ………………. .
Answer : Option Id
(A) we went/the last year 67001

(B) she went/the year before 67002

(C) you went/the coming year 67003

(D) they went/the previous year. 67004

Right Answer :
they went/the previous year.

Right Option Id : 67004

Question 21 Question Id : 73
Pickout-the Non finite verb/verbs in the sentence given below He told me to go.
Answer : Option Id
(A) Told 73001

(B) Go 73002



(C) Told, go 73003

(D) Me 73004

Right Answer :
Go

Right Option Id : 73002

Question 22 Question Id : 72
Pickout-the Non finite verb/verbs in the sentence given below Hearing the noise, he ran to the window.
Answer : Option Id
(A) Hearing 72001

(B) Noise 72002

(C) Ran 72003

(D) Window 72004

Right Answer :
Hearing

Right Option Id : 72001

Question 23 Question Id : 71
Pickout-the Non finite verb/verbs in the sentence given below You need to stop making so much noise.
Answer : Option Id
(A) Need 71001

(B) To Stop 71002

(C) Making 71003

(D) Noise 71004

Right Answer :
To Stop

Right Option Id : 71002

Question 24 Question Id : 70
Pickout-the Non finite verb/verbs in the sentence given below She hopes to succeed.
Answer : Option Id
(A) Hopes 70001

(B) To 70002

(C) Succeed 70003

(D) She 70004

Right Answer :
Succeed

Right Option Id : 70003

Question 25 Question Id : 69
Pickout-the Non finite verb/verbs in the sentence given below That is something to remember.
Answer : Option Id
(A) That 69001

(B) Something 69002

(C) Is 69003

(D) Remember 69004



Right Answer :
Remember

Right Option Id : 69004

Question 26 Question Id : 68
Pickout-the Non finite verb/verbs in the sentence given below The ability to laugh is peculiar to mankind.
Answer : Option Id
(A) Ability 68001

(B) Laugh 68002

(C) Penculiar 68003

(D) Manking 68004

Right Answer :
Laugh

Right Option Id : 68002

Question 27 Question Id : 66
Pickout-the Non finite verb/verbs in the sentence given below Hearing a noise, I turned around.
Answer : Option Id
(A) Hearing 66001

(B) Noise 66002

(C) I 66003

(D) Turned 66004

Right Answer :
Hearing

Right Option Id : 66001

Question 28 Question Id : 59
Pick out the Non-Finite verbs in the given sentence The tenants refused to leave.
Answer : Option Id
(A) Tenants 59001

(B) Refused 59002

(C) Leave 59003

(D) Refuse, leave 59004

Right Answer :
Leave

Right Option Id : 59003

Question 29 Question Id : 65
Pick out the Non-Finite verbs in the given sentence Do you object to our smoking?
Answer : Option Id
(A) Do 65001

(B) You 65002

(C) Object 65003

(D) Smoking 65004

Right Answer :
Smoking

Right Option Id : 65004



Question 30 Question Id : 64
A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice 
I love you.
Answer : Option Id
(A) You are loved by me. 64001

(B) You are being loved by me. 64002

(C) You have been loved by me. 64003

(D) You are being loved. 64004

Right Answer :
You are loved by me.

Right Option Id : 64001

Question 31 Question Id : 63
A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice
Ram killed a tiger.
Answer : Option Id
(A) Atiger is killed by Ram. 63001

(B) A tiger has been killed by Ram. 63002

(C) A tiger had been killed by Ram. 63003

(D) A tiger was killed by Ram. 63004

Right Answer :
A tiger was killed by Ram.

Right Option Id : 63004

Question 32 Question Id : 62
A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice
I am to do it.
Answer : Option Id
(A) It is to be done by me. 62001

(B) It will be done by me. 62002

(C) It will be being done by me . 62003

(D) It has been done by me. 62004

Right Answer :
It is to be done by me.

Right Option Id : 62001

Question 33 Question Id : 61
A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice 
Most people opposed this.
Answer : Option Id
(A) This has been opposed by many people. 61001

(B) This was being opposed by many people. 61002

(C) This is being opposed by many people. 61003

(D) This was opposed by many people. 61004

Right Answer :
This was opposed by many people.

Right Option Id : 61004

Question 34 Question Id : 60



A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice
The police catches the thief.
Answer : Option Id
(A) The thief has been caught by the police. 60001

(B) The thief is caught by the police. 60002

(C) The thief has caught by the police. 60003

(D) The thief was caught by the police. 60004

Right Answer :
The thief has been caught by the police.

Right Option Id : 60001

Question 35 Question Id : 40
A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice
They were playing football last night.
Answer : Option Id
(A) Football was being played by them last night. 40001

(B) Football had been played by them last night. 40002

(C) Football has been played by them. 40003

(D) Footbal was played by them last night. 40004

Right Answer :
Football was being played by them last night.

Right Option Id : 40001

Question 36 Question Id : 39
Identify the Passive Voice of the given sentence She guides me.
Answer : Option Id
(A) I am to be guided by her. 39001

(B) I will be guided by her. 39002

(C) I have been guided by her. 39003

(D) I would be guided by her 39004

Right Answer :
I am to be guided by her.

Right Option Id : 39001

Question 37 Question Id : 38
Identify the Passive Voice of the given sentence Stand up.
Answer : Option Id
(A) I am ordered to stand up. 38001

(B) You were ordered to stand up. 38002

(C) You are ordered to stand up. 38003

(D) You will be ordered to stand up. 38004

Right Answer :
You are ordered to stand up.

Right Option Id : 38003

Question 38 Question Id : 37
Identify the Passive Voice of the given sentence His behaviour shocked me.
Answer : Option Id



(A) I am shocked at his behaviour 37001

(B) I was shocked at his behaviour. 37002

(C) I am being shocked at his behaviour. 37003

(D) I have been shocked at his behaviour. 37004

Right Answer :
I was shocked at his behaviour.

Right Option Id : 37002

Question 39 Question Id : 17
Fill up the blank, with correct option …….. is/are considered part of grammar and often has/have well-established rules for how to use it/them properly.
Answer : Option Id
(A) Punctuation marks 17001

(B) Sonnet 17002

(C) Song 17003

(D) None 17004

Right Answer :
Punctuation marks

Right Option Id : 17001

Question 40 Question Id : 16
When we join two or more words to form a compound noun or adjective, we use ………….
Answer : Option Id
(A) Hyphen 16001

(B) Semicolon 16002

(C) Colon 16003

(D) brackets 16004

Right Answer :
Hyphen

Right Option Id : 16001

Question 41 Question Id : 15
Fill up the blank, with correct option Exclamation mark is generally used to show ……….
Answer : Option Id
(A) Strong Feeling 15001

(B) Happiness 15002

(C) Sadness 15003

(D) All 15004

Right Answer :
All

Right Option Id : 15004

Question 42 Question Id : 14
Square Bracket is generally used for ………..
Answer : Option Id
(A) Writer's Thought 14001

(B) Editor's Thought 14002

(C) Serious Writing 14003



(D) All 14004

Right Answer :
All

Right Option Id : 14004

Question 43 Question Id : 13
These are: !, -, [], (), {}, ?, " ", ; ,
Answer : Option Id
(A) Prepositions 13001

(B) Pronouns 13002

(C) Punctuation marks 13003

(D) Verbs 13004

Right Answer :
Punctuation marks

Right Option Id : 13003

Question 44 Question Id : 12
The " - " symbol is called
Answer : Option Id
(A) Colon 12001

(B) Semicolon 12002

(C) Comma 12003

(D) Hyphen 12004

Right Answer :
Hyphen

Right Option Id : 12004

Question 45 Question Id : 11
Which of these is used to separate a series of loosely related clauses?
Answer : Option Id
(A) Comma 11001

(B) Full stop 11002

(C) Semicolon 11003

(D) Colon 11004

Right Answer :
Semicolon

Right Option Id : 11003

Question 46 Question Id : 10
Which one is the symbols of Parentheses /Round Brackets?
Answer : Option Id
(A) ( ) 10001

(B) ? 10002

(C) [ ] 10003

(D) { } 10004



Right Answer :
( )

Right Option Id : 10001

Question 47 Question Id : 9
Which of the following sentences has the correct punctuation mark?
Answer : Option Id
(A) Please do it; shall give you money. 9001

(B) Krishan is back; Radha is fair. 9002

(C) It is cloudy; it may rain. 9003

(D) All of the above 9004

Right Answer :
All of the above

Right Option Id : 9004

Question 48 Question Id : 8
Choose the most suitable preposition from the given options Curd sells ………… Rs.20/ - a litre.
Answer : Option Id
(A) of 8001

(B) on 8002

(C) at 8003

(D) into 8004

Right Answer :
at

Right Option Id : 8003

Question 49 Question Id : 7
Fill up the blank, with the correct option My mother prefers tea ………. coffee.
Answer : Option Id
(A) to 7001

(B) for 7002

(C) with 7003

(D) from 7004

Right Answer :
to

Right Option Id : 7001

Question 50 Question Id : 6
Fill up the blank, with the correct option The plane is flying ………. the town.
Answer : Option Id
(A) above 6001

(B) over 6002

(C) under 6003

(D) up 6004

Right Answer :
over

Right Option Id : 6002

Question 51 Question Id : 5



Fill up the blank, with the correct option He has been learning piano _________ two years.
Answer : Option Id
(A) For 5001

(B) Since 5002

(C) From 5003

(D) Over 5004

Right Answer :
For

Right Option Id : 5001

Question 52 Question Id : 4
Fill up the blank, with the correct option His eyes are red ________ tears.
Answer : Option Id
(A) At 4001

(B) In 4002

(C) From 4003

(D) With 4004

Right Answer :
With

Right Option Id : 4004

Question 53 Question Id : 3
Fill up the blank, with the correct option Divide these apples _________ the children.
Answer : Option Id
(A) Between 3001

(B) Along 3002

(C) Among 3003

(D) Through 3004

Right Answer :
Among

Right Option Id : 3003

Question 54 Question Id : 18
Fill up the blank, with the correct option The aeroplane is flying------------------the cloud.
Answer : Option Id
(A) above 18001

(B) at 18002

(C) in 18003

(D) on 18004

Right Answer :
above

Right Option Id : 18001

Question 55 Question Id : 2
Fill up the blank, with the correct option There is a bridge---------the river.
Answer : Option Id
(A) above 2001

(B) over



2002

(C) between 2003

(D) across 2004

Right Answer :
across

Right Option Id : 2004

Question 56 Question Id : 19
Fill up the blank, with the correct option Good sleep is necessary--------good health.
Answer : Option Id
(A) of 19001

(B) for 19002

(C) at 19003

(D) from 19004

Right Answer :
for

Right Option Id : 19002

Question 57 Question Id : 21
Which of the following can be used as cohesive devices?
Answer : Option Id
(A) Full Stop 21001

(B) Chairs 21002

(C) Conjunction and adverb 21003

(D) Verbs 21004

Right Answer :
Conjunction and adverb

Right Option Id : 21003

Question 58 Question Id : 36
Combine the sentences with suitable options. Many students complained that the test was difficult, ------ many students managed to score full marks.
Answer : Option Id
(A) Yet 36001

(B) So 36002

(C) Because 36003

(D) but 36004

Right Answer :
Yet

Right Option Id : 36001

Question 59 Question Id : 35
Choose the correct cohesive device for the following sentence. I drove to the library instead ------ I was too lazy to walk.
Answer : Option Id
(A) however 35001

(B) because 35002

(C) despite 35003

(D) moreover 35004



Right Answer :
because

Right Option Id : 35002

Question 60 Question Id : 34
Fill in the blanks with correct connector. The students ran to the field ------ they heard that there was a Nescafe truck giving away free ice cold coffee.
Answer : Option Id
(A) despite 34001

(B) when 34002

(C) then 34003

(D) unless 34004

Right Answer :
when

Right Option Id : 34002

Question 61 Question Id : 33
Find the most suitable cohesive device for the following sentence. ------- the more educated a person is, the more choice he or she will have in a career.
Answer : Option Id
(A) Otherwise 33001

(B) Meanwhile 33002

(C) In Conclusion 33003

(D) Likewise 33004

Right Answer :
In Conclusion

Right Option Id : 33003

Question 62 Question Id : 32
Fill in the blank with correct option. A good homework space is well-lit, with paper and pencils. ------, it is quiet and distraction free.
Answer : Option Id
(A) However 32001

(B) In addition 32002

(C) All in all 32003

(D) Although 32004

Right Answer :
In addition

Right Option Id : 32002

Question 63 Question Id : 31
Complete the sentence with suitable cohesive device. There is no homework tonight; -------, there has been no homework all week.
Answer : Option Id
(A) in fact 31001

(B) as a result 31002

(C) therefore 31003

(D) consequently 31004

Right Answer :
in fact

Right Option Id : 31001



Question 64 Question Id : 30
Complete the sentence with suitable connector. Everyone agrees with him ------ not me.
Answer : Option Id
(A) so 30001

(B) and 30002

(C) as 30003

(D) but 30004

Right Answer :
but

Right Option Id : 30004

Question 65 Question Id : 29
Fill in the blank with suitable cohesive device. Dad works very hard for us ------ he can take us to go around the world in the future.
Answer : Option Id
(A) so that 29001

(B) because 29002

(C) and 29003

(D) while 29004

Right Answer :
so that

Right Option Id : 29001

Question 66 Question Id : 28
Select the alternative which best express the meaning of the idioms/phrase. Crocodile tears
Answer : Option Id
(A) Weeping personality 28001

(B) A shocking news 28002

(C) A sad moment in life 28003

(D) Pretending to be sympathetic 28004

Right Answer :
Pretending to be sympathetic

Right Option Id : 28004

Question 67 Question Id : 27
Select the alternative which best express the meaning of the idioms/phrase. A red letter day
Answer : Option Id
(A) A rainy day 27001

(B) An important day 27002

(C) An adventurous moment 27003

(D) A busy day 27004

Right Answer :
An important day

Right Option Id : 27002

Question 68 Question Id : 26
Select the alternative which best express the meaning of the idioms/phrase. Apple of discord
Answer : Option Id



(A) A fruitful effort 26001

(B) Struggle for food and shelter 26002

(C) A subject of dispute 26003

(D) A helping hand 26004

Right Answer :
A subject of dispute

Right Option Id : 26003

Question 69 Question Id : 25
Select the alternative which best express the meaning of the idioms/phrase. In the long run
Answer : Option Id
(A) A long distance 25001

(B) A race 25002

(C) A long Struggle 25003

(D) ultimately 25004

Right Answer :
ultimately

Right Option Id : 25004

Question 70 Question Id : 24
Select the alternative which best express the meaning of the idioms/phrase. Flying visit
Answer : Option Id
(A) visiting a distant place 24001

(B) A travel by an aeroplane 24002

(C) A long lasting visit 24003

(D) A very short visit 24004

Right Answer :
A very short visit

Right Option Id : 24004

Question 71 Question Id : 23
Select the alternative which best express the meaning of the idioms/phrase. Give in
Answer : Option Id
(A) To give something to someone 23001

(B) Giving a chance to someone 23002

(C) To accept the defeat 23003

(D) To donate money 23004

Right Answer :
To accept the defeat

Right Option Id : 23003

Question 72 Question Id : 22
Select the alternative which best express the meaning of the idioms/phrase. By dint of
Answer : Option Id
(A) In the support of 22001

(B) On the other side 22002

(C) Without any help 22003



(D) By means of 22004

Right Answer :
By means of

Right Option Id : 22004

Question 73 Question Id : 74
Select the alternative which best express the meaning of the idioms/phrase. Acquainted with
Answer : Option Id
(A) Allowed for something 74001

(B) Familiar with something 74002

(C) Unknown to something 74003

(D) Llgnorant of 74004

Right Answer :
Familiar with something

Right Option Id : 74002

Question 74 Question Id : 20
Select the alternative which best express the meaning of the idioms/phrase. At a stretch
Answer : Option Id
(A) Wide spread 20001

(B) Pulling with full strength 20002

(C) At one time without stopping 20003

(D) Standing till the end 20004

Right Answer :
At one time without stopping

Right Option Id : 20003

Question 75 Question Id : 75
Select the alternative which best express the meaning of the idioms/phrase. Break Down
Answer : Option Id
(A) Failure in something 75001

(B) To break into pieces 75002

(C) To divide into parts 75003

(D) To defeat someone 75004

Right Answer :
Failure in something

Right Option Id : 75001

Question 76 Question Id : 78
Select the alternative which best express the meaning of the idioms/phrase. Call upon
Answer : Option Id
(A) To shout 78001

(B) To order 78002

(C) To change 78003

(D) To bother 78004



Right Answer :
To order

Right Option Id : 78002

Question 77 Question Id : 92
Select the alternative which best express the meaning of the idioms/phrase. Cry out against
Answer : Option Id
(A) To weep on being defeated 92001

(B) To complain loudly against 92002

(C) Child-like behaviour 92003

(D) To be angry on others 92004

Right Answer :
To complain loudly against

Right Option Id : 92002

Question 78 Question Id : 93
Select the alternative which best express the meaning of the idioms/phrase. Go down
Answer : Option Id
(A) To collet 93001

(B) To reject 93002

(C) To be humiliated 93003

(D) To be reduced 93004

Right Answer :
To be reduced

Right Option Id : 93004

Question 79 Question Id : 94
Choose the correct phrase from the given option and make a conditional sentence. If air……warmer, it will rise.
Answer : Option Id
(A) gets 94001

(B) get 94002

(C) will get 94003

(D) got 94004

Right Answer :
gets

Right Option Id : 94001

Question 80 Question Id : 97
Choose the correct phrase from the given option and make a conditional sentence. If Raja goes to the park, he ……his friends.
Answer : Option Id
(A) can see 97001

(B) will see 97002

(C) could see 97003

(D) would see 97004

Right Answer :
will see

Right Option Id : 97002

Question 81 Question Id : 96



Choose the correct phrase from the given option and make a conditional sentence. Suppose……..the match, will they be in the finals?
Answer : Option Id
(A) they will win 96001

(B) they would win 96002

(C) they have won 96003

(D) they win 96004

Right Answer :
they win

Right Option Id : 96004

Question 82 Question Id : 91
Choose the correct phrase from the given option and make a conditional sentence. If you spoke a foreign language, you…… a better job.
Answer : Option Id
(A) can get 91001

(B) could get 91002

(C) can have got 91003

(D) could have get 91004

Right Answer :
could get

Right Option Id : 91002

Question 83 Question Id : 98
Choose the correct phrase from the given option and make a conditional sentence. If I had known you were coming, I ….. A cake
Answer : Option Id
(A) will bake 98001

(B) would bake 98002

(C) will have bake 98003

(D) would have baked 98004

Right Answer :
would have baked

Right Option Id : 98004

Question 84 Question Id : 99
Choose the correct phrase from the given option and make a conditional sentence. Would you be surprised if it …….next July?
Answer : Option Id
(A) snows 99001

(B) were snowed 99002

(C) would snow 99003

(D) snowed 99004

Right Answer :
would snow

Right Option Id : 99003

Question 85 Question Id : 100
Choose the correct phrase from the given option and make a conditional sentence. …….you admit to a crime if you didn't commit it?
Answer : Option Id
(A) will 100001

(B) have



100002

(C) would 100003

(D) had 100004

Right Answer :
would

Right Option Id : 100003

Question 86 Question Id : 95
Choose the correct phrase from the given option and make a conditional sentence. If you……my best friend, I wouldn't tolerate your behavious.
Answer : Option Id
(A) aren't 95001

(B) weren't 95002

(C) haven't 95003

(D) hadn't 95004

Right Answer :
weren't

Right Option Id : 95002

Question 87 Question Id : 90
Choose the correct phrase from the given option and make a conditional sentence. I…….round the world if I had not won the lottery.
Answer : Option Id
(A) weren't have travelled 90001

(B) won't have travelled 90002

(C) wouldn't have travel 90003

(D) wouldn't have travelled 90004

Right Answer :
wouldn't have travelled

Right Option Id : 90004

Question 88 Question Id : 77
Choose the correct phrase from the given option and make a conditional sentence. I would have agreed with the contract on condition that I …..enough
time to think it over.
Answer : Option Id
(A) have 77001

(B) had 77002

(C) have had 77003

(D) had had 77004

Right Answer :
had had

Right Option Id : 77004

Question 89 Question Id : 88
Choose the correct phrase from the given option and make a conditional sentence. The first conditional is used if there is….. that the condition will
happen.
Answer : Option Id
(A) a real possibility 88001

(B) little real possibility 88002

(C) no longer possible 88003



(D) no possibility 88004

Right Answer :
a real possibility

Right Option Id : 88001

Question 90 Question Id : 87
Fill up the blank with the correct option. The principal and teacher-------------------just gone.
Answer : Option Id
(A) were 87001

(B) are 87002

(C) has 87003

(D) is 87004

Right Answer :
has

Right Option Id : 87003

Question 91 Question Id : 89
Fill up the blank with the correct option. Either of them--------------------English
Answer : Option Id
(A) Knowing 89001

(B) know 89002

(C) have Known 89003

(D) knows 89004

Right Answer :
knows

Right Option Id : 89004

Question 92 Question Id : 86
Fill up the blank with the correct option. Nothing but huts------------------------------there.
Answer : Option Id
(A) Were 86001

(B) Are 86002

(C) Is 86003

(D) Have 86004

Right Answer :
Is

Right Option Id : 86003

Question 93 Question Id : 85
Fill up the blank with the correct option. Nobody-------------the fact.
Answer : Option Id
(A) Knows 85001

(B) Know 85002

(C) Knowing 85003

(D) Known 85004

Right Answer :
Knows

Right Option Id : 85001



Question 94 Question Id : 84
Fill up the blank with the correct option. Either of the two students__________laborious.
Answer : Option Id
(A) Were 84001

(B) Is 84002

(C) Are 84003

(D) Have 84004

Right Answer :
Is

Right Option Id : 84002

Question 95 Question Id : 76
Fill up the blank with the correct option. Every one______________rewarded.
Answer : Option Id
(A) Was 76001

(B) Were 76002

(C) Have been 76003

(D) Have 76004

Right Answer :
Was

Right Option Id : 76001

Question 96 Question Id : 83
Fill up the blank with the correct option. All the furniture ________ old.
Answer : Option Id
(A) Look 83001

(B) Have looked 83002

(C) Looks 83003

(D) Are looked 83004

Right Answer :
Looks

Right Option Id : 83003

Question 97 Question Id : 82
Fill up the blank with the correct option. A number of students ________ late today.
Answer : Option Id
(A) Is 82001

(B) Has 82002

(C) Was 82003

(D) Are 82004

Right Answer :
Are

Right Option Id : 82004

Question 98 Question Id : 81
Fill up the blank with the correct option. Physics ……………. an easy subject.



Answer : Option Id
(A) are 81001

(B) were 81002

(C) is 81003

(D) have 81004

Right Answer :
is

Right Option Id : 81003

Question 99 Question Id : 80
Fill up the blank with the correct option. The teacher as well as students ……….. going to visit the zoo.
Answer : Option Id
(A) are 80001

(B) is 80002

(C) were 80003

(D) have 80004

Right Answer :
is

Right Option Id : 80002

Question 100 Question Id : 79
Fill up the blank with the correct option. India …….. a big country.
Answer : Option Id
(A) are 79001

(B) were 79002

(C) is 79003

(D) have 79004

Right Answer :
is

Right Option Id : 79003

Art Of Teaching

Question 101 Question Id : 120
The independent variable in teaching is
Answer : Option Id
(A) Teacher 120001

(B) Student 120002

(C) Content 120003

(D) method of teaching 120004

Right Answer :
Teacher

Right Option Id : 120001

Question 102 Question Id : 121
The most challenging aspect of teaching is
Answer : Option Id
(A) prepare question paper 121001



(B) to make teaching enjoyable 121002

(C) evaluate the students 121003

(D) maintain discipline 121004

Right Answer :
to make teaching enjoyable

Right Option Id : 121002

Question 103 Question Id : 125
Effectiveness of teaching is judged in terms of
Answer : Option Id
(A) course coverage 125001

(B) students interest 125002

(C) use of teaching aids 125003

(D) learning outcomes 125004

Right Answer :
learning outcomes

Right Option Id : 125004

Question 104 Question Id : 123
Teacher's perspective of objective is
Answer : Option Id
(A) knowns specific objectives for the topic 123001

(B) executes plan timely 123002

(C) decide activity 123003

(D) all the above 123004

Right Answer :
all the above

Right Option Id : 123004

Question 105 Question Id : 124
Bloom's taxonomy was originally published in
Answer : Option Id
(A) 1954 124001

(B) 1956 124002

(C) 1958 124003

(D) 1960 124004

Right Answer :
1956

Right Option Id : 124002

Question 106 Question Id : 119
Show and tell is
Answer : Option Id
(A) Lecture method 119001

(B) Demonstration method 119002

(C) Discussion method 119003

(D) problem solving method



119004

Right Answer :
Demonstration method

Right Option Id : 119002

Question 107 Question Id : 117
Deductive method of teaching is
Answer : Option Id
(A) Traditional approach 117001

(B) Experimental approach 117002

(C) Game based approach 117003

(D) Blended approach 117004

Right Answer :
Traditional approach

Right Option Id : 117001

Question 108 Question Id : 126
Heuristic method is the gift of
Answer : Option Id
(A) Spencer 126001

(B) Armstrong 126002

(C) Herbart 126003

(D) Dewey 126004

Right Answer :
Armstrong

Right Option Id : 126002

Question 109 Question Id : 127
Characteristics of a good lesson plan is
Answer : Option Id
(A) Length of the lesson 127001

(B) Level of class 127002

(C) aims to achieve 127003

(D) all the above 127004

Right Answer :
all the above

Right Option Id : 127004

Question 110 Question Id : 128
5E model contains one of them
Answer : Option Id
(A) Examine 128001

(B) Ease 128002

(C) Excavate 128003

(D) Explore 128004

Right Answer :
Explore

Right Option Id : 128004



Question 111 Question Id : 129
Microteaching is used-
Answer : Option Id
(A) In secondary classes 129001

(B) In primary classes 129002

(C) In teacher training institution 129003

(D) None of these 129004

Right Answer :
In teacher training institution

Right Option Id : 129003

Question 112 Question Id : 108
In programmed instruction, the sequence of course ma terial is-
Answer : Option Id
(A) Psychological 108001

(B) Physical 108002

(C) Both A & B 108003

(D) None of the above 108004

Right Answer :
Psychological

Right Option Id : 108001

Question 113 Question Id : 130
After completion of class teaching-
Answer : Option Id
(A) the black boand should be got cleaned by any student 130001

(B) The teacher should clean the black boand 130002

(C) The blackboand should be left as it is 130003

(D) None of the above 130004

Right Answer :
The teacher should clean the black boand

Right Option Id : 130002

Question 114 Question Id : 122
Reading disabilities is known as
Answer : Option Id
(A) Dyslexia 122001

(B) Dyscalculia 122002

(C) Dysgraphia 122003

(D) All of the above 122004

Right Answer :
Dyslexia

Right Option Id : 122001

Question 115 Question Id : 118
Which component are not involved in the classroom processes?



Answer : Option Id
(A) Expected learning outcome 118001

(B) Assessment of student's learning 118002

(C) Evaluating teacher's peformance 118003

(D) None of the above 118004

Right Answer :
Evaluating teacher's peformance

Right Option Id : 118003

Question 116 Question Id : 115
A people who works in libraries one called-
Answer : Option Id
(A) Librarian 115001

(B) Actor 115002

(C) Musician 115003

(D) None of these 115004

Right Answer :
Librarian

Right Option Id : 115001

Question 117 Question Id : 116
Children need books-
Answer : Option Id
(A) for develop critical thinking skills 116001

(B) to understand ourselves 116002

(C) Both A and B 116003

(D) None of these 116004

Right Answer :
Both A and B

Right Option Id : 116003

Question 118 Question Id : 101
More values can be effectively inculcated among the students when the teacher-
Answer : Option Id
(A) Frequently talks about values 101001

(B) Himself practice them 101002

(C) Tells stories of great person 101003

(D) Talks of god and goddesses 101004

Right Answer :
Himself practice them

Right Option Id : 101002

Question 119 Question Id : 102
Those teachers are popular among students who-
Answer : Option Id
(A) award good grades 102001

(B) take classes with extra tuition fee 102002



(C) help students to solve their problem 102003

(D) None of these 102004

Right Answer :
help students to solve their problem

Right Option Id : 102003

Question 120 Question Id : 104
Why should a student not be punished severely?
Answer : Option Id
(A) The student may develop a negative attitude towards his/her studies, teachers and institutions 104001

(B) He/she may quarrel with the teacher 104002

(C) Parents may complain about teacher 104003

(D) None of these 104004

Right Answer :
The student may develop a negative attitude towards his/her studies,
teachers and institutions

Right Option Id : 104001

Question 121 Question Id : 105
The Meaning of 'CCE' is-
Answer : Option Id
(A) Continuous and Comprehensive Evaluation 105001

(B) Continuous and Comprehended Evaluations 105002

(C) Continuous and Cooperative Evaluation 105003

(D) All of the above 105004

Right Answer :
Continuous and Comprehensive Evaluation

Right Option Id : 105001

Question 122 Question Id : 106
The diagnostic test is used-
Answer : Option Id
(A) to identity the difficulties of pupils 106001

(B) to assess the knowledge of pupils 106002

(C) to evaluate the teaching learning process 106003

(D) All of the above 106004

Right Answer :
to identity the difficulties of pupils

Right Option Id : 106001

Question 123 Question Id : 107
What is the main objective of summative evaluatino?
Answer : Option Id
(A) To promote students to the next class. 107001

(B) To understand the learning difficulty 107002

(C) To improve the learning process 107003

(D) To enhance students learning process 107004



Right Answer :
To promote students to the next class.

Right Option Id : 107001

Question 124 Question Id : 103
Curriculum devlopment is based upon-----------
Answer : Option Id
(A) Philosophical basis 103001

(B) Political basis 103002

(C) Psychological basis 103003

(D) All of the above 103004

Right Answer :
All of the above

Right Option Id : 103004

Question 125 Question Id : 109
It includes content learning experience and learning activity.
Answer : Option Id
(A) Syllabus 109001

(B) Curriculum 109002

(C) Assignment 109003

(D) Assessment 109004

Right Answer :
Curriculum

Right Option Id : 109002

Question 126 Question Id : 110
An Ideal school is establishe in a/an….
Answer : Option Id
(A) Urban Area 110001

(B) Rural Area 110002

(C) Natural Area 110003

(D) All the above 110004

Right Answer :
Natural Area

Right Option Id : 110003

Question 127 Question Id : 111
Right to Education means-
Answer : Option Id
(A) Free and compulsory education to 6 - 14 age children 111001

(B) Free and compulsory education to 4 - 14 age children 111002

(C) Education for all 111003

(D) All the above 111004

Right Answer :
Free and compulsory education to 6 - 14 age children

Right Option Id : 111001



Question 128 Question Id : 112
What happens to the learning curve when students are given an opportunity to discuss something in a group?
Answer : Option Id
(A) It remains the same 112001

(B) It decreases 112002

(C) It increases 112003

(D) All the above 112004

Right Answer :
It increases

Right Option Id : 112003

Question 129 Question Id : 113
Linguaphone is an example of-
Answer : Option Id
(A) Visual Aid 113001

(B) Audio-Aid 113002

(C) Audio-Visual aid 113003

(D) All of the above 113004

Right Answer :
Audio-Aid

Right Option Id : 113002

Question 130 Question Id : 114
Hands-on-learning is-
Answer : Option Id
(A) Experiential learning 114001

(B) Observational learning 114002

(C) Inquiry based learning 114003

(D) All of the above 114004

Right Answer :
Experiential learning

Right Option Id : 114001

Other Skills

Question 131 Question Id : 149
There were widespread rises against the British in the 1820s. Which one of the following did not revolt in the 1820s?
Answer : Option Id
(A) Santhals 149001

(B) Ahoms 149002

(C) Pagal Panthis 149003

(D) Ramosi 149004

Right Answer :
Santhals

Right Option Id : 149001

Question 132 Question Id : 148
If the Sun rises at Tirap in Arunachal Pradesh at 5.00 am (IST), then when (IST) the Sun will rise in Kandla, Gujarat?



Answer : Option Id
(A) About 5.00 a.m. 148001

(B) About 6.20 a.m. 148002

(C) About 7.30 a.m. 148003

(D) About 7.00 a.m. 148004

Right Answer :
About 7.00 a.m.

Right Option Id : 148004

Question 133 Question Id : 147
What is the maximum investment by any single investor in an Indian company?
Answer : Option Id
(A) 10% 147001

(B) 15% 147002

(C) 20% 147003

(D) 25% 147004

Right Answer :
10%

Right Option Id : 147001

Question 134 Question Id : 146
Who among the following was not related to Champaran Satyagraha?
Answer : Option Id
(A) Dr. Rajendra Prasad 146001

(B) Anugrah Narayan Singh 146002

(C) JB Kriplani 146003

(D) Jai Prakash Narayan 146004

Right Answer :
Jai Prakash Narayan

Right Option Id : 146004

Question 135 Question Id : 145
Visva-Bharati University, which was seen in the news recently, is located in which state?
Answer : Option Id
(A) Uttar Pradesh 145001

(B) Bihar 145002

(C) West Bengal 145003

(D) Odisha 145004

Right Answer :
West Bengal

Right Option Id : 145003

Question 136 Question Id : 144
Which of the following statements is true about the Air Quality Index?
Answer : Option Id
(A) It indicates the colour of the air. 144001

(B) It predicts ozone levels in your area. 144002



(C) It determines the intensity of sound and sound pollution. 144003

(D) It estimates air pollution mainly sulphur content in the air. 144004

Right Answer :
It predicts ozone levels in your area.

Right Option Id : 144002

Question 137 Question Id : 143
Which of the following is the oldest and the most common method used to dump solid wastes?
Answer : Option Id
(A) River 143001

(B) Ocean 143002

(C) Landfill 143003

(D) None of the above 143004

Right Answer :
Landfill

Right Option Id : 143003

Question 138 Question Id : 142
Deforestation generally decreases the
Answer : Option Id
(A)   Soil Erosion 142001

(B)   Global Warming 142002

(C) Drought 142003

(D) Rainfall 142004

Right Answer :
Rainfall

Right Option Id : 142004

Question 139 Question Id : 141
UNFCCC stands for
Answer : Option Id
(A) United Nations Framework Convention on Climate Change 141001

(B) United Nations Federation Convention on Climate Change 141002

(C) United Nations Framework Council on Climate Change 141003

(D) United Nations Federation Council on Climate Change 141004

Right Answer :
United Nations Framework Convention on Climate Change

Right Option Id : 141001

Question 140 Question Id : 131
Name the type of Vegetation found in Kashmir valley ?
Answer : Option Id
(A) Sub-Tropical Vegetation 131001

(B) Xerophytic Vegetation 131002

(C) Temperate Vegetation 131003

(D) None of the above. 131004



Right Answer :
Temperate Vegetation

Right Option Id : 131003

Question 141 Question Id : 139
If the side of a square is 7 m, then find its area.
Answer : Option Id
(A) 49 square meter 139001

(B) 48 square meter 139002

(C) 45 square meter 139003

(D) 42 square meter 139004

Right Answer :
49 square meter

Right Option Id : 139001

Question 142 Question Id : 138
Evaluate the compound interest on Rs. 10101 for 3 years at the rate of 9% per annum compounded annually.
Answer : Option Id
(A) 2980 138001

(B) 30000 138002

(C) 10101 138003

(D) 33333 138004

Right Answer :
2980

Right Option Id : 138001

Question 143 Question Id : 137
29.92 × 2.4 + 21.28 × 4.5 = ?
Answer : Option Id
(A) 147.568 137001

(B) 167.568 137002

(C) 167.658 137003

(D) 176.568 137004

Right Answer :
167.568

Right Option Id : 137002

Question 144 Question Id : 136
If the least common multiple of two numbers is 225 and the highest common factor is 5 then find the numbers when one of the numbers is 25?
Answer : Option Id
(A) 75 136001

(B) 65 136002

(C) 15 136003

(D) 45 136004

Right Answer :
45

Right Option Id : 136004



Question 145 Question Id : 135
Due to the sun, a 6ft man casts a shadow of 4ft, whereas a pole next to the man casts a shadow of 36ft. What is the height of the pole?
Answer : Option Id
(A) 63 ft 135001

(B) 72 ft 135002

(C) 54 ft 135003

(D) 48 ft 135004

Right Answer :
54 ft

Right Option Id : 135003

Question 146 Question Id : 134
NUMBER : UNBMRE : : GHOST : ?
Answer : Option Id
(A) HGSOT 134001

(B) TSOGH 134002

(C) OGHST 134003

(D) SOTGH 134004

Right Answer :
HGSOT

Right Option Id : 134001

Question 147 Question Id : 133
Choose the word which is least like the other words in the group.
Answer : Option Id
(A) Peanut 133001

(B) Gram 133002

(C) Mustard 133003

(D) Rice 133004

Right Answer :
Rice

Right Option Id : 133004

Question 148 Question Id : 132
17,44,62,53 ......
Answer : Option Id
(A) 66 132001

(B) 26 132002

(C) 29 132003

(D) 63 132004

Right Answer :
63

Right Option Id : 132004

Question 149 Question Id : 140
If 18514 stands for AHEAD, then 31385 stands for?
Answer : Option Id
(A) CATCH 140001



(B) CASSET 140002

(C) CACHE 140003

(D) CONQUER 140004

Right Answer :
CACHE

Right Option Id : 140003

Question 150 Question Id : 150
Pointing towards a girl in the picture, Harshini said, "She is the mother of Neha whose father in my son." How is harshini related to the girl in the picture?
Answer : Option Id
(A) Mother 150001

(B) Aunt 150002

(C) Cousin 150003

(D) None of these 150004

Right Answer :
None of these

Right Option Id : 150004


